BEEZEROHE BFOUE) BEEROTE HTFUE)

HEHE AR E HEHE AR E

1 FFRLT 88.900 1 EE/AITE(R 123.200
2 2 AOTZE 114.950
2 3 Hip NI 59.400
Riggs EARES KigsEs EARE

1 Fgubde & BE 5K | 64.550 1 Fogude |29 21 {FHE | 45.600
2| AT E [24] E)I SN | 51.750 2| BOxTE (& WA #% | 40950
3 HREE I 49.200 3| HiOT¥ B4 ¥ K¥ | 39400
4 HITIXE |28 & #FEE | 42.100 4 FnFrude 124 #8 HHAY | 39.100
5 HHEE 14 €# FIE | 40.300 5| #Zxudk 14 FEE E4E | 38.500
6] #FLT [SF] HF KB | 31.500 6] BOITE [25] E [F4H& | 34.600
Kigsis EB 3 Kigsis EB 3

P H B

1| #oFude & BE =i 12.050 1| ABTE 3FH F¥%H k¥ | 11.750
2| HAOTE [24] & #5EBf | 11.300 2| HOTE (14 WA #k | 11.650
3] HBTE [24F] E)II S | 10.600 3| #gnlde 24 ENI F#E | 11.500
HAE BoEWLVE{TH

1| HBTE |25 & #H1H 9.850 1| foguude |29 2 FE 9.600
2 HREE I 9.800 2| B0TE (45 WK #E 8.000
3| #Fnldt [1& EE =K 9.400 3| Fngxlde [4&] FEE EE 7.850
DYt Fig4

1| FFbude & BE 5K | 10.900 1| FOFuude 1249 21 {FHE | 11.650
2 iEhEs 156 F OBE 4.750 2| HIBTZE 3 F¥H k¥ | 10200
2| MILT [3F AH XF | 4750 3| FFldk 1 FEE EE 9.800
k5 P H

1 FFubde & BEE 5K | 11.100 1 #ogude |29 21 {FHE | 12.850
2 IS 1% E Bm 10.850 2| BOxTE (& WA #% | 11.900
3| BBTE [2&] &)l FIFE | 10650 3| #Fgnlde [24 #B HHY | 11.400
T8

1| Fogmldt |14 BIE =ik | 10.700 SH4E6A3H (£)~5H8(H)

2l WmE [E = B 9.000 MMLURIZIAEEE

3 HREE 15 £H 58 8.950

o

1| FFbude 14&E BEE 5K | 10400

2| AT ¥ (24 &) gIE 9.150

3| ABTE |24 b 8 4.600




